[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

1.0

1072 10 1 10 0?
TP vertr (cr%)

—=#— DQM_CKF_TT_base_noSel
Efficiend —— pQMm_ckF_TT_baseT125_nosel

~ 0.5

L s S E O
1) o : . : : :
> 04 e R e
> E : : : : :
& E : : : : :
R N S R S
o o . . . :
£ 0.3 [ R AR N AR
o E : : : :
L | R IR SRR S S S
7 S SN 1 o
R
S e

LY. 18 S SRS RIS S S

N ST LN 1IN § SO N
s b 0 TUIRIE: T
o N : |
1_— ------- -< 444 b
0.050 : i i : :
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.02

>
50.018
5016
9.014
>
9.012
)

(&}

£ 0.01F
()
0.008F
0.006F
0.004F
0.002F

P06 6 420 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


